C:# Toval'areade Triangoli Nome:

Troval'areadi ciascun traingoli. Le dimensioni non sono in scala. Risposte
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Toval'areade Triangoli

Troval'areadi ciascun traingoli. Le dimensioni non sono in scala.
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Nome:  Soluzioni
Risposte

1 152

2 962

3 1.956,5
4. 84

5, 91

6. 136

7 40,5

8 12

9 135
10, 75
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Toval'areade Triangoli Nome:

Troval'areadi ciascun traingoli. Le dimensioni non sono in scala. Risposte

1.956,5 91 40,5 135 962

84 152 12 136

1) T 2) T 3) T

19 74 91

B 16 2 3
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l 13 16
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9 8 18

B 9 3 B 15

Semplificato 1-9 |89|78[67]56|44[33[22]11] 0 |
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